
A = 25m² 
 

 
 

Areal 

a = 2m 
b = 12,5m 

 
 

Areal 

A = 36cm² 
 

 
 

Areal 
a = 18cm 
b = 20mm 

 
 

Areal 

A = 55dm² 
 

 
 

Areal 

a = 0,5m 
b = 110cm 

 
 

Areal 
A = 80ha 
 

 
 

Areal 

a = 8hm 
b = 100dam 

 
 

Areal 

A = 60a 
 

 
 

Areal 



a = 10m 
b = 60m 

 
 

Areal 

A = 64m² 
 

 
 

Areal 

a = 80dm 
b = 800cm 

 
 

Areal 
A = 56dm² 
 

 
 

Areal 

a = 7dm 
b = 0,8m 

 
 

Areal 

A = 12,5cm² 
 

 
 

Areal 
a = 25cm 
b = 0,5cm 

 
 

Areal 

A = 8cm² 
 

 
 

Areal 

a = 0,02m 
b = 0,04m 

 
 

Areal 



A = 30ha 
 

 
 

Areal 

a = 200m 
b = 150dam 

 
 

Areal 

A = 42cm² 
 

 
 

Areal 
a = 0,7dm 
b = 0,06m 

 
 

Areal 

A = 51m² 
 

 
 

Areal 

a = 3m 
b = 170 dm 

 
 

Areal 
A = 39dm² 
 

 
 

Areal 

a = 0,3m 
b = 1,3m 

 
 

Areal 

A = 2km² 
 

 
 

Areal 



a = 2000m 
b = 10000dm 

 
 

Areal 

A = 77ha 
 

 
 

Areal 

a = 700m 
b = 11000dm 

 
 

Areal 
A = 12mm² 
 

 
 

Areal 

a = 0,2cm 
b = 0,06dm 

 
 

Areal 

A = 24mm 
 

 
 

Areal 
a = 0,03dm 
b = 0,008m 

 
 

Areal 

A = 17m² 
 

 
 

Areal 

a = 8,5m 
b = 20dm 

 
 

Areal 
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